® x-3

@ x+3

® x(x-3)

= x(x+3)(x—3)

x(x? - 32)

x3 — Ox




2. oA (x+y)(x+y-3z) —42% o] T A FOog QIR
]IH 1

F A4 e

@2x+2y—3z @ 2x-2y-3z ® 2x-4y+ 3z

@ 2x+3y-2z ® 2x+2y+3z

B

(x+y)=A=std

A(A - 3z) — 422 = A% — 3Az - 47
=(A-42)(A+2)
=x+y-42)(x+y+2z)

(xty-4)+ (x+y+2)=2x+2y-32




x? = 2x—y? + 2y B JAFESfSAHY
(x+ay)(x—=by +c) 7F E1Ath ot a + b + ¢ 9] 222

a-2x-y?+2y=x2 -y -2(x-y)
= (x+y)(x-y) - 2(x-)
= (x-yx+y-2)
Ot a=-1,b=-1, c=-29B2 g+ b+c=—-4




Sf&Al o]-§5ke] 132 - 122 = 13+ 12 2 A{tst3int. of of,

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

132 -122 = (134 12)(13-12) = 134+ 12 =25
webA] o] g8 FALL o - b? = (a+ b)(a—b) °IFh.




A d(p+q)* - 4Alp + q)p + p* = 15Eslsto] S| e
?

L
flo o

@ (p+aq)° @ (p+ 20’ ® (2p+4q)°
@ (p-q)° ® (p-29)°

B

p+q=1t2 X2sIH

4p+q)° -4(p+qp+p° =4 —41p + p?
= (2t- p)®
= (p+29)°




6. (x+2)%-(2x-3)?2 7rH3s] 5t —(ax + b)(x + c) ©|th. o] df,
a+b+col e oY (B, ae FF)

@ -5 @ -1 @—3 @ -10 ® -12

B

x+2=A4, 2x-3=BZ g5}
(x+2)% — (2x - 3)?

:A2_B2

— (A+B)(A-B)
:(x+2—|—2x—3)(x+2—2x+3)
=Bx—-1)(-x+5)
=—-Bx-1)(x-5)
Latbte=3+(1)+(5=-3




7. tE g3 dEs] FANA @, Ol ol-8E T4 B4
Zof 2he| = A2 A27

r+2xy+1y’—1
gl
=(x+y+1)(z+ y—l)j

)
W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)

@b, (+h @ (Wb, Oh ® (h, (h
@ (), (°h ® (7. (=

2 F2xy+y?-1
=(x+y)?-1 - da®>+2ab+b*>=(a+b)? ol &
=(@+y+)(+y-1) - (@®-b*) = (a+b)(a-D)




8. x=-1+ V34l 4x? +8x+4 ] gk-Z FolH?

D 10 @12 ® 13 @ 14 ® 15

4x? +8x+4 =4(x> +2x+1)
=4(x+1)2=4(-1+ V3+1)?
=4(V3)2 =12




9.

x—y= V54 x2—2xy+y? +2x-2y-3 2| g7

@ 25 @ 45
@)2+2V5 ® 3+2+5

® 1+2+5

X% = 2xy+y*+2x-2y -3
=(x=y)?+2(x-y)-3
=(V5)?2+2x V5-3=2+25




